Bill of Materials
Iltem Name

1 Upright
Cylinder
Piston
Crank Pin
Crank Wheel
Nut
Setscrew
Cap Screw (2)
Base
Crank Shaft
Nut
Flywheel
Machine Screw
Spring
Flat Washer
Air fitting

O N O WN

PR R RR R
ool WN PO

Material

3/8x2x4" Extruded Aluminum Rectangle 6061 T6
1x1x2" Extruded Aluminum Square 6061 T6
0.625" Diameter Carbon Round 12L14

9/64" Drill Rod O1

2" Extruded Aluminum Round 6061 T6

Steel Machine Screw Nut 6-32 Screw Size

Cup Point Socket Set Screw 6-32 Thread
Socket Head Cap Screw 10-32x1/2"

3/8x4x4" Extruded Aluminum Rectangle 6061 T6
1/4" Drill Rod O1

Steel Machine Screw Nut 1/4-28 Screw Size
2.5" Extruded Aluminum Round 6061 T6

Pan Head Phillips Machine Screw 10-32 Thread
Steel Spring, 1" Long, 11/32" OD,.047" Wire
Flat Washer 10 Size

Air Fitting, 10-32 Thread

Notes
Break all sharp edges
Tolerance +0.010 unless specified

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Oscillating Engine Assembly

Revision 0 2243 Sheet 1 0f 8




1.183

0.375

e e ey _|
!

e e e |

4.000

@0.125 Thru 1.000
10-32 Thread 0.25 deep
0.817 20.125 0.250
0.402
T \yﬁ Va
1.000 hd
l N
N
2625 \ 0.183
~~ 70.193
/!\
k[)\ @0.251
I~ 20.252
b [ h ik
0.500 Mt It
i il il
0.188
{,} )
N A
0.250
1.750 10-32 Thread 0.50 deep
2.000

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Upright

Revision 0

Scale 1.1 Sheet 2 of 8




@0.125

)

AN

e e e e e e e e e

1.625

E— F_
[ == —
[ L [
[ L [
ro L
1875 | ! Famat o
i — 1500 T g
oo ro !
! { 0.875 ! [
F { F
S !
0.250 ‘
@0.500
0.375 @0.501
!
0.500 s
! £=1- 1000
1.000

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Cylinder

Revision 0 Scale 1:1 Sheet 3 of 8




‘ [
0.490 L
|
1625 ‘ @0.142

1813 ™ 20.144

M
N

20.4994
20.4987

0.313

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Piston

Revision 0 Scale 1:1 Sheet 4 of 8




1.625

0.500
Crank Pin

@0.2495 0.600
1/4-28 Thread @0.2505

Shaft

6-32 Thread

0.350 @0.140
20.141

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Shaft and Pin

Revision 0 Scale 1:1 Sheet 5 of 8




0.461

0.336

2 Th
@1.187 6-32 Thread 0211

[Ny

Ny

6-32 Thread —

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Crank Wheel

Revision 0 Scale 1:1 Sheet 6 of 8




4.000 0.375

2.000 0.190
] @0.375
1.250 -

| )

2.750 =
l

4.000

l

5

0.200

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Base

Revision 0 Scale 1:1 Sheet 7 of 8




@2.500

0.500

70.251
@0.255
0.25 deep

0.375

0.250

0.125
R
% R0.03 max
Typical
2
7,
L
- -rt 1/4-28 Thread
E { 0.25 deep
L1
L1
L1
L1
L1 L

LittleMachineShop.com

© 2005 LittleMachineShop.com. All rights reserved

Flywheel

Revision 0 Scale 1:1 Sheet 8 of 8




